New Products
CKD

N E 2 R EIR
VSRVYV Series
HEmER

COMPACT VACUUM REGULATOR VSRVV SERIES

ARES, REIR(FIE!

B2 Fpparig BRI EE)
“_‘EI_‘EEEJ
$i7E

BT RAEENEEL T‘)Eﬁﬁﬁﬂﬁ'lﬁﬂﬁﬂ

LI T 50%* NEEN ERTIREMHEETRF KARHT R
KMERBNE SRT T E R R H. eok D R 28 e
MBI, AEE. RERFARELR
*SEATIMER R (SER) BERTFRAER, magME.
REMEFER
ZEAR ] SEHELR
AIEEEE AERETRERN LR 5 2% MK
BETFENEZ=O, ¥, KR B,

P ST AR,

CKD Corporation

CC-1588C



IR E DL iR E ST H,
N B RE

VSRVV series

@ fcEMRE © ¢6. ¢8. R1/4

JISTFS Eé @

¥ K

mER TR ETERENTBEEF,
RAIINAEZEREREZE, EHISREHES,
REERASETRNATOERERNEEAR (R1/4)

REEBE! (R1/4) AJTEEBREERZEHRP150. ¢200mmANZEE, BFREFIE,.

B BRI

HERER
HERNBIE R

fEHIHE S
EA GRE) -
k|

rr————r 11 .._-....ﬂ

N mems

N e

EE

CKD



VS RW Series

BSRTAE
BSRTAE
O/ N ETRER
(VSRWV ) - @
QiEERT 93‘2&#
ﬁ/’lj( B
9,_ jJJ.I_ZI'

O EERT (2§27 el

6 DERIEEL A TEAR (R1/4)

8 DBIRIEHIEL B TEBR (R1/4)

u JEIELE
A B U

M 2%
(SET)
1l

2%

o
s (SED

2740
(SET)

F1: UROXANEREN S, (SHEMFNITE)

F2: ARISBRIMIMEZRTER, BZEFEEEE,

O EHET O =i
TS | ZEAET (FiRig) THS |*T
M TEHET (M5X0.8PRLFIE) B EXEYS
G HFEHET (P0EFTHENIR) F1: AU ONXAIERTHS,
RA WHEEHET (NPN_SW2& +1Es8) (24 RIRER)
RAP WHFEHET (PNP_SW2S + 18 H)
RC HHFEEHNET (NPN_SW2=+EHIThEE
RCP HWHEEHET (PNP_SW2s5+S#IThAE
G RA/RAP/RC/RCP
TEHER TEHER FEHET s e —
e M5 % 0. 8PB LI o30mm RSP ER RUFENRS
XFEERNESRAE BHIBE
TS RRIBIES S MEARMBE, AR SRR EIBHELDIRERS. AR BE
&KL EBATE FELEBATE
§ & (vac) 1 2% (sET)
@ TRIHES
- TRERENS
VSRVV-B




VS RW Series

7% 1 i8] &R FR A%
5 B
EHETR EEDER HAEKRFETATAENFAX OI0EZHENE
fERRE =]
EREH kPa —100~100 | —100~0
BEES kPa —100~—1.3
NFE £/min (ANR) 30
ERRE °C 0~50 (B2, RIFHFLE | 0~40 (BR, FE5LE)

R F R REDERSFERSE

% B SRTETENERE
: EIGE (RA) HEFMEE (RC) EIEE (RAP) HESITE (RCP)

FERED —100 ~ 100 kPa
fitES 300KPa
PP ER IECHRE HHE FIP40
IRRE ((R72RT) —10~60°C (REEZEMEL)
TR |IFIEIRE (EFRY) 0~50°C (FIEEBIFLE)
I(T;;i’ffﬁm i) 35~85%RH (RFEE)
HIREE DC12~24VE10%;Ezh (P-P) £10%MTF
SHAEET 40mMALTF (EfhfEet)
BRRER SR /FY
EHER BRFEE +29%F.S. +1digit
——— TETE: 286 (4. )
HFRR BERS: B
it R 2=
Tt AR NPNEE BRFFEE PNPEE IR FFES
FXGEE 30VDC 125mAILTF 24VDC 125mAILTF
RSB e [E PR 1.5V
1~5V+2.5%F.S..AF
RN i H B E E#HME1%FS.UT
I RHLY1kQ
BERYE +2.5%F.S..LF (0~50°C. at25°C)
BESBE +0.2%F.S. *1digit
MRzE (GR#) CIpEE
[=]
PRI (2.5L)L‘F/25/100/25_10]/55?Ci/1000/1500msec)

ETEE (1) ENE (FERTEE)

X1 (kPa) —100~100
X1 (MPa) —

X0.75 (cmHg) —75~T75
X0.01 (bar) —1.00~1.00
X0.145 (psi) —14.5~14.5

HTHAENRIBEIME
EHETR kPa —100~0
EHEREE 5%F.S. (25°CHY)

CKD



EAEE. RERHE

VS RW Series

EAfE. RERE

N TEAR
EFEE
45
@ —50kPa
- 50 — |
R & EES:|—55kPa
E
3 55
(—kPa) BEES: —60kPa
|
65
95 90 85 80 75 70 65
—REF(—kPa)
mEEBE
ES4FEE
45
50 &EES :|—50kPa
"
= I&EEST :|—55kPa
# 55
(—kPa)
I&EES] :|—60kPa
60 i
65
95 90 85 80 75 70 65
—REH(—kPa)
L pr oSl
EAEE
45
&EES] | —50kPa
— 50
"
E I’EES ;| —55kPa
(—kPa)
®EES ;| —60kPa
60
65
95 90 85 80 75 70 65

—REA(—kPa)

0 5 10 15 20 25 30
72 (2/min (ANR))

5 10 15 20 25 30
RE(2/min(ANR))

0 5 10 15 20 25 30
iE(8/min(ANR))

CKD



VS RW Series

SMER~TE
OZER, TEHET (FiRE) VSRVV-LJA/VSRVV-[1B

29

i

—_
—
-

12.3

33.6

kA

-

©14.5

61.6

i .c
022 _R1/4 E
B (mm)

ERSEIMNZ “-_ﬂ
oD (g)
63
17 29
87

12.5

VSRVV-6ZA - 6ZB

6
VSRVV-6ZA - 6ZB-B
VSRVV.8ZA~ 878 . 84.9 87.4 81.4 78.9 151 | 280 63
VSRVV-8ZA - 8ZB-B . ‘ 88

*1: BRYMBYEEFNEERT,

OZER, TEHET (M5X0.8AMRLM) VSRVV-CJAM/VSRVV-[IBM

g (mm)

EASEME --_ﬂ
1) SIER | FEERY | SiER | AR (g)
6 17 29 gg

VSRVV-6ZAM + 6ZBM
VSRVV-6ZAM -+ 6ZBM-B
VSRVV-8ZAM - 8ZBM ’ ’ ’ 64

VSRVV-8ZAM - 8ZBM-B 8 18.1 | 28.9 39

*1: BRYWBIGEERNSERY,

CKD

¢14.2
PR .
Ul\JU
~
(o]
- n
- :
ﬁ HEX10 < o <
“ M5 X0.8 o L
© T - i
@ Sttt
| | Lc ﬁ
1
1 < B i
— R1/4

HAEMBSMEZRTER
TR R ELR,

HAEMBSMZRTER
HREMH R ELR,



IMERTE

VS RW Series

MRS E

OTER, FENETR (30EZAENR) VSRVV-LJAG/VSRVV-LIBG

61.6
0
1i‘

14.2
)
(321
" AER
§ % < @ E —J‘»—
©
T
i

| 1L c |
o
= iz
022 R1/4 £
B4l (mm)

ERASEIME

oD

S T ] | (o
(g)
17 | 29

VSRVV-6ZAG - 6ZBG 6 120
VSRVV-6ZAG * 6ZBG-B 145
VSRVV-8ZAG - 8ZBG . 84.9 87.4 81.4 78.9 51 | 28 120
VSRVV-8ZAG - 8ZBG-B ’ ) 145

1 BRYNBYUEERENSERY,

HHFETRHESERSE) VSRVV-LJARLI/VSRVV-LIBRL]

o o
o™ o™
ZEM
BETHRFERENEREE
20 B4R 1492000
M16X 1
HEX19
™
N- (o]
-
o
o & T3 w2
p4 < };
= HEX12 (il
(o} Tmr T |-
HEX14 bt -t
| < T
0 [
= I R1/4 )
$22 | E
B (mm)

VSRVV-6ZARL] * 6ZBRL]

ERSEIME “-_n
oD
6 17 29

E—
(g)

146

VSRVV-6ZARL] « 6ZBRLI-B 170
VSRVV-8ZARL] - 8ZBR[] s 84.9 87.4 814 789 18.1 | 28.9 146
VSRVV-8ZARL] + 8ZBRLI-B ) ) 170

1 BRYNBYUEERENSERY,

*2 1 EOERENERSEESHERRESE,

XAEMBSMZRT B R
R B R EILR,

XAEMBSMZRT B R
SRR ELR,

CKD 6



VS RW Series

SMERSTE

@ EiELE., TEHET (FigE) VSRVV-(U
20 $14.2
M
/ i L 2-¢6.5 o
‘ : n
i < < LR
M (VQQQ L I |
8 - OomEm ]
. < HWEC
— o in T
S' I N I
-l
28 al ||,
@ o |
2-C
Bfi] (mm) E1
Emsenz| A ) B2
¢D €3)
VSRWV-6ZU ‘ 311 | 108
85.3 87.8
VSRWV-8ZU 8 18.1 | 295 | 31 109
@ FELE., EEHETR (M5X0.8NIELHME) VSRVV-CIUM
S b
/ = T
SN }
25 21.3
20 2 6
M16X1 4
J@L HEX19
™ <] ™
T 2-96.5 o e J«LP} -
*"HL ===y ‘
™ e ,7,#, '
Q2 i ' OSI._HEX10 < LR
i d / ‘ M5X 0.8 o
~ BSFL . < T
© | < [l
= -
b y n 1 ,,,\,ﬁ
5 I
i —
28 a w
¢ S %S}Etlm'%
Bl (mm) o 2-C
EEeEnz| 0 A = = 3 El
¢D PSR | AR ( ) E2
VSRWV-6ZUM 17 311
85.3 87.8
VSRVV-8ZUM 8 181 | 295 | 31 110

CKD




IMERSTE

VS RW Series

MRS E

@EEKE, FEHET

(p30EZ=HEAHRK) VSRVV-LIUG

HEX12
HEX10
25 423
2 16.5
M16X 1
J@L HEX19 @
[32]
2065 o o b
it :
-
- L
& J |
o MK @
3 ==
$28
B (mm)
iﬁﬂqgﬂ‘ﬁ BE
<|>D BER | A (g)
VSRVV-6ZUG 311 | 137
85.3 87.8
VSRWV-8ZUG 8 ‘ 181 | 295 | 31 | 138

@FELE, FENER (FHRFE

wESEZE) VSRV-LJURL

29
|]] |]]
IEE i -—3 &
0 I
SN[
S i
25 61.1(x1)
2
A K E 1 £92000 25.2
M16X1
_HEX19
™
N el J;ﬂgj
y I
-
i H
o R L:, -k 3
& ! ‘ I
= i
8 BEA @ HEX12
w - HEX14
ﬁi
841 (mm)
iﬁﬂ%ﬁ%ﬁ BE
¢D et (g)
VSRWV-6ZURL] 311 | 190
VSRWV-8ZURL] 8 18.1 | 29.5 31 191

A1 ENERSENERSAESAERRBES,

fAER

LR ‘
< (VAC)
—

$14.5 $la.4

—_
2%
(S

2-¢D

El
E2

LR
< (VAC)
-

0144

$l45

—
274
(SET)
2-C
El
E2

2-¢D

CKD 8



VS RW Series

R IE R —

BB HE (RME)

1 JAEREH RYaEE

2 AERL M (THRRER)

3 E=F RUNE_RERT i
4 SHME fRa® (FRREL)

5 RAEHE Ra® (PRREL)

6 ENIEH TEM

7 OFZE SHTHERE

8 sk fRa® (PEREK)

9 LA fRa® (PEREK)
10 | ER SHTHERE

11 LB Bas (FRREL)
12 | EERF RYERE

13 SHEF RHAEN (RBRARKARE)
14 | £m RHAEN (RBRARKARE)
15 | SEEEEEG S TSR

16 | ¥k Ra® (FAREL)
17 | £#B#&& Ra® (PRREL)
18 R TEEM

19 | & Ra® (PRREL)
20 i@ Ra® (FRREK)
21 S SRISEN RWE_RET R
22 | IR fRa® (PRREK)
23 | ENLRERE TEEM

24 | ZHiEfF M (TCHRRER)

25 M16 X 1NFRigE W (5

XFmBIER X

OZEREESE
SERETHEARATE (M2 14mm), EASEHTANI2~1AN - miEEREHTER.
REE, AWREATABERBOEESE, 1, ERENRRFERBLN, FREESAENRREBENRS FEHERBOER
i,

QM AZEHHIEIET X
O (FERET %
EEXMRTERHIIRN, ENARRENEEN, AMCRT (BFBETES) #TRE

ERAERERT

25 41

13 25

M ]
FEO an

| N | ™

| S m

O EET

BN TENHREGEEEXENE, AASEANKEEERT, ERAENTAMMITHIIMI6X IRFLI3~4N - mEyHE#TT
g@o
REH, FHELRBEEBNIEETIE,

G AR L EFLHIEE T A
ERRRZEAEEN, EERASENTREEMTHIIMLE X LIERIU3~4N - mEgHRIEHITRE.
RN, R TARE BB,

GERRELRT)
A1 : 16.5mm~17mm
EE: 8T

CKD



VS RW Series

fERERSEM

fERRIAESS B IR,

| I EER
XFEZTRZATHENIRSW, FHINMETRATHSELVACS) (A4S © CC-796C),

A Es

PR ERBEIEER, B7ERAPIETAENR, EEERN, BERAAETHFERAETAENAX. Ml
T RBIEER] BEF TR,

RN, BRNPRERNATFENERRBS, #TRDHEEHIET.

A iE
EHEEERIETE LAAE (IREFEHHERE) #HI1TIRE. ETERME (GERNEERE) TEERILE.
MEIREAR. EAFXR. EARTEORMNIKNAGTEN E, SVWATESSBILER[KETEERER.

REEANRZEORETN®R. BREFH, BRAKRFEFNEDRZEONAS ($@: 12mm) #TEE, Lo,
M5 X0.8SA#ITRER, HEE TRNEFZEHE, SRS THRANERSREREERR,

= R RERE
B RT EEH%E
M5 X 0.8mm | 1.0~1.5N * m

R BERNRE TR FN, BESUEETRERRAEN (THM) KEETIIER, TUWRASYTESH
HHERRo

R FRENDFRE, B7NEER AL R
mIEEEEMNERER, ESMBRSILRL. EE2EFPERMEEE.
WEMBRIFESEY, FEBRSILEHREHITIRE.

REIMEFPRE TER e RAERTE, MEFARES TR H iR I E,
BUNESBOAERE. ME®RS. (Fabl HA2ERE. )

WiFERER TRIBIE, RIRERERRR. RERFESBIRAUERS.
ERMELRE TEAN, ENRBEAAESIEE, MTSBEHDZEK,

MREIAERERN, RIEREUE, ERNSEMRRSNUZFEFRENPEMEFLE, FERRTITEEZEH
E, EItiE#IAREREERBAIMERSHLE,

miEEREBIERY, SRITHEAS HEREH AT RESHURBIEAADER,
BP30MmMAERIBFADEEHEHNRA (BEF) NHFAER.
REAFHRFERENEREN, FRIATRESNENR - FREEAIEFIRZENTIEESI

BEE~mbY, BFARRMHEHERRBEANTRERESZ, RIFENHEZESHNEL, MEMEA. 15
EHEU LN RZER, BRIESBAERS,

REERNENRUETES ZEEHITHR, #HAIBRIFEEE UM,
SRITHER B Al BE = S B A 51T,

CKD

10



VS RW Series

XEXF=m
BT R4 TH SELVACS HEAHE © CC-796C
BRI CKD

BRI EE. 2<iE, 0 5
WHHHLEEE RS R4

BONFh, MEFE, AT ZHME. Bk

WETTE - RR1K
BHFRZOBONERERRL/ATRARRINE . EIR
b, BEPE=E. 5FER.

ETREIR VRA2000&7%!
ERTFANT 4R RSO E RAENIEEE T,

(A4S © CB-024SC)

H=digsE VFAZRT
BMEGBETRIAA LRI —ERRABIR LK.

(FE44RS : CB-024SC)

FMNEREORT RREBEXRASRERN, REBARERESWIERHIDEERTSEA. RBEHEXNARP,
If the goods and/or their replicas, the technology and/or software found in this catalog are to be exported from Japan, Japanese laws
require the exporter makes sure that they will never be used for the development and/or manufacture of weapons for mass destruction.

2022.7




